1. Differentiate the following functions. DO NOT SIMPLIFY ANSWERS
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2. (10 pts) Solve the equation for all values of 6 in the interval [0, 27] :

cos(20) + sin(8) = 0.

(Hint: Use a double angle formula for cos(26) to express the equation as

a quadratic equation in sin(6).)
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3. (10 pts) Find the equation of the tangent line to the graph of the equa-
tion

y" +3y = §
at the point (0, 2).
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4. (8 pts) Find the equation of the line perpendicular to the tangent line
at (0, 1) on the graph of
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5. (7 pts) Find f"(z) when f(x) = zsin(2z).
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6. (10 pts) The volume of a cube is increasing at the rate of 3 in.%; se
What is the rate of change of its surface area when each edge is 2 inches
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7. (5 pts) Find % at the point (16, 25) for the equation
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